9 8 1

21
FSAOTE

PROPRIETARY NOTICE:

3
REV DESCRIPTION

3 i
DATE ENG ECO # [APPR

- RELEASED FOR PRODUCTION

NOTES :

I INTERPRET DIMENSIONS AND TOLERANCES PER ANSI YI4.5M-1994
2. PART TO BE FREE OF BURRS AND/OR SHARP EDGES

: il
oL/

=

OR THE INFORMATION THEREIN, AND W

THIS DOCUMENT CONTATNS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH) AND 1S GIVEN TO THE RECEIVER IN CONFIDENCE.
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTEMS, THE RECEIVER WILL NOT PERMIT THE USE OF THE DOC
INFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO

OR ANY COPY THEREOF OR THE
ILL UP?N CONPLETION

L (N H DOCUNENT
OF THE NEED TO RETAIN THE DOCUMENT, OR UPON DEMAND, RETURN THE DOCUMENT WITHOUT RETAINING ANY OF THE INFORMATION CONTAINED THEREIN
T 3 T 0 v 13

IN ANY FORM WHATSOEVE
T %

SCALE 0.630
10 8 SPACER5_21DX100DX3/90702208 SPACER, 5.21D X 10.0 OD X 3mm
9 8 SCREWMSAF 16 91040516 SCREW, M5 SOCKET CSNK FLAT 16 BZ NYTEMP
8 4 SCREWMd4AF8BZ 91040408 SCREW, M4 SOCKET CSNK FLAT 08 BZ NYTEMP
1 12 [SCREWM4ACBSS 91100408 SCREW, M4 SOCKET CAP 08 SS SEMS
6 2 NUT58-24LPS 90703053 NUT, PANEL MOUNT 5/8-24 X 3/32 BRASS
5 2 SP096 90703052 NUT, LEAD SCREW, [/4-16 4 START
4 2 FS168 99190039 GUIDE, LITHO MODULE, CARRIAGE X-SPOT
3 2 |FSIT5 99260352 BRACKET, LINEAR MOUNT SIDE
2 2 FS176 99260376 BRACKET, LINEAR MOUNT
| 8 BEARING_5X16X5 90719049 BEARING, BALL 5 X 16 X 5mm
ITEM NO.| QTY FILENAME PART NO DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECITIED|RELEASE DATE: JAN [2. 2001 |CE: High €nd 2203 VEST BRAER LaYE
DIMENSIONAL TOLERANCES: [ENG: D. FRANKLIN QA Ufg:'z‘) ;g;*_‘%ggm
§ PLACE DAL T £0-38 [ME: = FAX (512) 832-8542  LIGHTWAVE
2 PLACE DECIMALS =£0.13 [MFG: DRW: L ROESSLER svevemae® hitp://www. highend.com RESEARCHs
ANGLES = £0.5 DESCRIPTION
FOR PAINTED PARTS Rerch 10 |CARRIAGE, ASSY HEAD ¥-SPOT
ENG. SPEC. MANUAL SOP-4.4.2 |MATERIAL: FINISH:
TR CHARTED NA
MIN. RADII INTERPRET DIMENSIONS PER SI PART O DRAWING NO REV.
TFHLlAcTKNNE[Ssss /TAS'\ARED ‘(/llbléLgMPF(‘(?JgE‘xCTIONQ S METRIC 8 O ‘ 3 O O 2 O F S A O 7 6 -
VOLUME DIMENSIONS ARE N MiLLIMETERS| AT Fovorsaae [SCALE: 0.630 [SHEET: 1 OF 1
7

g T T




